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4. Describe the chemical process of EMP 2017
pathways. Mention its electron transport ,
system. 6+2=8 i ‘ \ BOTANY
EMP-3 ITEAF A& 3 741 1| R W *Raz ( General )
o7 Ry T 740
Or / &l ( Physiology and Qiochemistty )

What is hormone? Write the plant hormones Full marks : 40 -

in the field of agricultural development. -~ 2+6=8 | Time : 2 hours
A 2 3R T Rifew e Bfw 2w R | The figures in the margin indicate full marks
I , . Jor the questions

5. What are enzymes? Write an account of the Answer either in English or in Assamese

factors affecting the enzymatic reactions. 2+6=8

BT T VI I @2 B o 1. Answer the following questions/Fill in the

o1 o o blanks : , 1x7=7
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(a) Make a relationship among diffusion
Describe the role of various types of RNAs in pressure deficit, osmotic pressure and
protein biosynthesis. 8 turgor pressure.
2’7 eRTS RiSH 2997 RNA 9 SR rrde , TR SR N, SRS o S TR R
. wRER . &S ¢ o FIo 91 |

* ok k (b) What is guttauop?
a0

{c) Write the reaction centre involved in
photosystem-I.
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(e)
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______ first discovered nucleic acid.
A CIRET e ufbe e #REE |

Name one hormone which is used in
controlling weed. '

Serg PrER aRRy Z T W o

The first stable product of Hatch and
Slack cycle (C4 cycle) is

T F FF 5&F (C, cycle) I g4 T A4t
L] N

What is florigen?

# R 2

2. Answer the following questions : - 2x4=8
wo g orprs Ted o :

(@)
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()
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Distinguish between endosmosis and
exosmosis.

SIS W1 IRICIET e FRewqn |

Describe the
transpiration.

AT 1ol 301 1 |

significance of

What is seismonastic movement? Give
one example.

Prafee vom & 2 «ft Srregq faan

( Continued )

(d)

(3)

Distinguish between oligosaccharides
and polysaccharides.

FERAT SF IR TS *N1efF forn |

3. Answer any three of the following questions :

3x3=9

O PR R R e fefibr s forn

(a)

(b)

(c)

(d

(e)

A7/917

What is hydroponics? Describe the
necessity of hydroponics. 1+2=3

TP I QA ? TR AR SO
R 3 301

Write the causes of dormancy of seeds. 3
M3 Sz IRPEIR o o

What is phytochrome? How does it hélp
in the flowering of plants? 1+2=3

FHE B2 % RE T e e W

Q7

Mention .the process of photolysis or .

- photooxidation of water in light reaction. 3

¢Ird Rigare 1N e Remd ww) s
GRY SEe F40 |

What is respiratory quotient? Write
different values of respiratory quotient in
different respiratory substrates. 1+2=3
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